WHEEL BRAKE PER 135.30 WITHOUT ADJUSTING DEVICE

ETI- No. 811233

(Specify the order with the ETI No.)

AlL:KO

Spare Parts

ohne Pos. 14
ab 0902

senza pos. 14

@2 09002

Item Description Part No.
1 BRAKE DRUM @98X4 M12x1.5 370799
@100X4 M12x1.5 625342
2 WHEEL BOLT
SPHERIC M12x1,5( 2081670020
CONUS M12x1,5( 2081670018
3 END CAP 2083990002
4 LOCKING NUT 1312008
5 BEARING BOLT 647831
6 TAPER BEARING 705246
7 TAPER BEARING 705247
8 SET BRAKE JAW 1220335
9 GREASE NIPPLE CONUS DIN 71412-AS 6X1 700203
10 TENSION SPRING 370796
11 BOWDENCABLE
800/1020 357216
1040/1260 357217
1220/1440 358758
12 WASHER 2182150005
13 ADJUSTING BOLT 370794
14 TENSION SPRING 370795
15 STOPPER 373245
16 NUT 700283
17 CASTELLATED NUT 700754
18 SPLINT 702797

THE RETAIL OF INDIVIDUAL BRAKE SHOES IS NOT PERMITTED BY EU DIRECTIVE FROM 1st OF OCTOBER 2002.
ATTENTION: THE SET INCLUDES FOUR BRAKE SHOES AND THE APPENDANT TENSION SPRINGS, PRESSURE SPRINGS AND COVER PLATES.

provided ETI-No. changed Change No. Reason of the change Revisons-No.
16.02.00 811233 _en 05.07.11 I.H. FREIGABE | Pos. 2: 2081670020 war CONUS A
28.03.140J 16233 SEE CHANGE B

Hersteller / Manufacturer / Fabricant:

AL-KO Fahrzeugtechnik - 89359 Kétz - Germany

Seite / Page 1-1




